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1- Circle the correct answer. (12x1=12) _ujg,;,,,/gv,zy,, -1
L. In first step of glycolysis glucose molecules breaks and e Lau?,q(“j/bb,jd,:?b{r{;/fu:&/%éﬁufﬁ 1
divide into two ................. molecules. A
Formic Acid 176 (D) Pyruvic Acid ,‘Z{lq/;uég (C) LacticAcid iy_gd (B)  Citric Acid 1y S %~ (A)
2. Amount of nitrogen in expired is: 4.3m1ﬁ»Jgﬁﬁ/‘-’vuﬁmdu'gnzwuc;f- 2
97% (D) 77% (C) 79% (B) 21% (A)
3. Maintenance of balance in the amounts of water, _g;_L:'U/:L,‘y:U}!]Uﬁf)‘gjfrgnlcdli.?/)rgw(&g 3
minerals, temperature and glucose in body is called:
Tubular secretion ﬁ)?)y',f (B) Excretion J%/Cf; (A)
Reabsorption J’w’ﬂdz (D) Homeostasis u/:’h’,g,f‘ ©
4. Example of hydrophyte plants is: ,?J@Ju,,gbh:,’u,,jgg 4
Water Lilly Js (D) Cactus JLGK(C) Sea grass sU§.x~ (B) Grass'JJ (A)
5. In nervous coordination of human nervous system ;ugL/f ,,,,,,,, 4L,¢J,«’y(§/vuﬁr"‘/u,;£uul ]
response is an action of -------- after receiving message:
Effectors ;;@“ (D) Coordinators ; xx3,74 (C) Receptors ;z+, (B) Stimuli Jy,ev (A)
6. Mostly osteoprosis found in: VY-S V7= VYY) 6
Youne one _%($,Tuiz (B) Children Jug (A
All of these rl}:’ (D) Old age people J,Jg/dy. (@)
7. The process in which inherited material transfer from ;ﬁ-_erLnJ"";ufu"’g/,,cgjj._,g;;tffmu:ffu 7
generation to next generation:
Circulation uﬁ»"// (D) Reduction f;;, (C) Respiration ﬁ;g/ (B) Reproduction f@,ﬁ/ (A)
8. How many pea plants were used in experiment of ?JJW;[w,{{L}uﬁ;g}%uLd,ﬁg 8
Mendel?
27,000 (D) 26,000 (C) 29,000 (B) 28,000 (A)
9. is the abiotic component of ecosystem: P — z.j{gu?("ﬁfl 9
Water &g (D) Decomposers ;,;,{d; © Animals e (B) Plants ey (A)
10. 250 years ago, the population of world was ?fgf’ﬂﬁd;gﬁ{g;%dvﬁo 10
approximately __ millions:
700 (D) 600 (C) 500 (B) 400 (A)
1. Single cell protein can be obtained from: eGP e 1
Bird iy (D) Algae c—tf' (@) Cow ~ z ¢ (B) Insect c_;;[ (A)
12.  Streptomycin is obtained from: 12

Virus /1, (B)
Microorganism r}f@ft (D)

P PPT0 o D o Bz
Bacteria k/:)é (A)
Fungi 3¢ (Q)
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(Part-1 -Jsl..«)
2- Answer any 5 short questions. (5x2=10) .é@uﬁ/"?igﬂ[yS‘,é’r -2
i. What is difference between pleural membrane and ?‘L/U/‘.L,@:u,gﬁ(y;/‘j/gk?badﬁgu:jg,ﬁJ,;;Lwl'/;/w,é, i
pleural fluid?
ii.  Who are passive smokers and how they are affected? S pd sl gl g S AL
iii.  How skin regulate the body temperature? fe § /I/"/.é//.;«/!i;/)é:()'dc id
iv.  Write two symptoms of kidney failure. ?Lgn?gd:@w{w??gm/@fg;f v
v. Define stimuli and give example. _q}du‘»/,u/_gﬂféuk“ v
vi.  What is vitreous humour? S T vi
vii.  Write any two growth effects of somatotrophin _54}¢§21D’,f,)¢;&/4()~JUI£ur/l,cfl}’}:‘r vii
hormone in human body.
viii. What are moveable joints? Write down its important ,Q//"/’rl,?ufuwgf’mLuL/af/ viii
types.
3- Answer any 5 short questions. (5x2=10) .égwg}?LQU[ySLJ}r -3
i Write mechanism of movement of arm. -ﬂp@(&;&;g i
ii.  Explain two advantages of reproduction. _éug;!},;é‘f@%/ i
iii.  How budding in corals take place? tednd Lautdsf i
iv. " How over population occurs? ?+8n<{ﬂgg/,,l iv
v. How proteins forms in the cell? ?w&djﬁ,/ruﬁ){ v
vi.  Define monohybrid cross. -q/..gf&ﬂ/fy,&l,ir vi
vil.  What is Darwin theory of evolution? ?‘agd/x,gucﬁj/ld/u;/lj vid
viii.  What are effects of denitrification above normal. \?u:'?«n;,v/“lgi‘f?d/vdiug}:.JA' viii
4- Answer any 5 short questions. (5x2=10) .é@bl 2 /"f L..-o,mySQJI -4
i What is meant by urbanization? sl p e I .
ii.  Explain Dengue fever briefly. _FEeol G E
iii.  What is old biotechnology? S JEAL A S i
iv.  Write few uses of ethanol in industrial products. _g{jvagid}';'ﬂu:ﬂg@y Aiv
v. Write objective of genetic engineering. <u:"ﬁml3»£f};‘fl_ﬁfj v
vi. How terramycin developed? ?6@1;,4;@:;(,1/:" i
vil.  What is mescaline? ?9gug$: vii
viii.  What are tetracyclines? ?‘jgk[j{‘jwﬁ -vii
(Part - 11 - ru.a‘?)
Attempt any TWO questions. (2x9=18) eyzLl ety e s
5(a) Describe the bad effects of smoking. _éug,gl/“lg_/'éﬂf/?f,c;&w @5
5(b, Define dialysis. Explain Hemodialysis. el Ay S5 A (D)5
6(a) Write two disorders of human eye. -;éugdj@;;éff&u: ()6
6(b; Prove that variations of leads to evolution. U ek ae) P S5 (D)6
7(@) Write note on Mutualism and commensalism. -”Zﬁ,j/?r)fg’,@,u(')gy: @7
7(b; Describe the types of medicinal drugs on the basis of ,éukrulﬁd/c,&ulﬁc);giél/} )7

their sources.

2/3



DANISH ACADEMY

Kot Haibat DGK

03467300010

Name:

|Ro|| #:

|Subject: |Bio|ogy-10

Test #: |1179091

Test Detail:

Type 11 - Full Marks Test - Total=60

Time:

Syllabus:

Full Book

Date: 20-Feb-2023

TEST TYPE WITH ANSWERS KEY

C

B

C D D C A

3/3



